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L: Compute arctan(x))=arcton'(x)] .

① tup a simple equation involving arctorx .

arcton(x) = the inverse function of tan(x) us tan/arctox) = x .

⑦mate both sides of the equation .->

chamrule /tanlarctan(x))) = *

*O
tan'xsecx I secx=1

Sec (arctanx) arctan) = 1 warctan'(x) = cos
2 (arctanx)

↳ need a better expression
for "cos(arctanx)" ...

③ triangle to renterpret trig expressions .

1 =right triangle w/ hypothese = 1 & an angle O.

Sin O

O Reall : "SOH-CAH-TOA"-> base = cosce & height = since .
COSO

Since arctan(tanc = 58) = 0 = arctan (8)
=> coso = cos(arctan(8) . Since we want cos(arctanx) ...

Let x= -> costo= cos? (arctanx) .
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④-reexpressions back in terms of "x" . theorem"

sino+cos20 = 1

↓

x = 8 x = - costo-=
a

x
2

- by combining
->
x
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↓

with *&

-> cost and the alt arctanix-
Ne: The same Ideas work to find arcsinx) & arccos"(x) ,

and those turn out to be a bit easier .


